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Answer ol the questions.
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INSTRUCTIONS

Candidstes should read the following instructions carefully before answering the questions:

P
'

This booklet consists of 32 pages including this front page. Verify the Page Mo and Test Booklet
series on each page and bring at once 10 the Invigilator’s notice: any discrepancy.

Answers will have to be given in the Special Answer-Sheets supplied for the purpose.

Before vou procesd 1o mark in the Answer-Sheet in response to various items in the Test Booklet.
you have to fill in some particulars in the Answer-Sheet as per instructions sent 1o you in the
Admit Cerd. Do mof fold the Answer-Sheet ax thes will resolf in ervor In your marks.

All guestions are of multiple-choice answer-type. You will find fewur probable answers
(A}, (B), (C) and (D) against each guestion, Find out which of the four answers appears 1o you
i he correct or the best. Now dorken the circle corresponding o the letter of the selected snswer
in the Answer-Sheet with Black Ball Point Pen as per instroctions printed on the reverse of the
Admit Card and in the Answer-Sheet.

Oine and only one circle is to be fully blackened for answer. Any spot in any other circle (multiple
circle) or in wrong cirele will be considered as: wrong answer.

There will be negative marking of § mark for each wrong answer.

7. There are blank pages at the end of this Booklet for Rough Work.

The Special Answer-Sheet hould be handed over to the Invigilator before leaving the Examintion
Hall. You are permitied o take away the used Test Booklet after completion of the examination.
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1. & menor 12 women can do a pisce of work
in Z0 days. Thenumber of davs needed to complere
the job, if 10 men and 15 women are employed to
do the same prece of work is

(A 10
(B) 15
(C) 8

{D} 20

4. Rajuinvesied Rs, 15000 in rwo paris. One
part on §% amnd other at 12% per annum, His
annul income 1= Rs 1630, Rano of the two parts

tespectively
{(A) 31:7
(B) 5:9
C) 4:11
Dy 7:11

3. If & sem of money doubles fself at
compound interest in 12 years, Tn how many vears
will it become foar times?

(A} 26 years
(B} 24 vears
(C} 20 years
(D) 1B years

4. Successive discounts of x% and v% are
equivalent to a single discount of

LAY (o + 1M
(B) ity %

1
{C)

xy
{x+ 3 E] -

K=y
~ %
2

{0}

3. Gold and Copper are heavier than water by

19 and 9 times respectively. In what proportion

should they be mixed to form an alloy sothat it will
be heavier than water by 15 times T

{A) 1:

(B} 2:

(Cy 3:

2
3
4
My 3:2

B-1

6. The compound interest on Bz, 100 in

2= years af [(F% per anmium i

[EERE

{A) Rs 2000
(B Rs. 2230
(C) R 2705
(¥ Rs. 2833

T. Ha=s 2L, b=2022; ¢ = 2023 then the
valve of o + b* + ¢ — 3ubc is
(A FR19%
(B 20158
(C) 19288
(D 19188

8, The marked price of 2 pen is Rs. 200 and
cusiomer buy it for Rs. 153 after two successive
discounts. I first is [0%, then the second is

(A} 20%
(Bl 18%
() 10%
(DY 15%

9. If ©e and B be the roots of the guadratic
equation ax” + 2by + e =Oand w + v, f+ybe
those of Ar™ + 28x + C = 0, then which one is
correct?

(A) ANB —AC) = a(b = ac)
(B) ANY —ac) = al(iB* —AC)
() BA = BO) = Bia’ - be)
(D) BA% - BC) = Ba® - be)

1 A bus travels from Kolkata o Digha a
the rate of 55 kmvhour and retorms ot the rate of
6 kmihour. Then the average rate of the whole
journay is

(A 50 kmvhour
(B} 55 km/hour
() 60 knvhour
(DY T2 kmv'hour



11. Rahul’ssalary is first increased by 10F5%: and
then again by 209%. But due to covid the salary 15
decreased by 23%. By what per cent the initial
salary changes?

(A} 1% increased
(B 1% decreased
(T 2% mereased
(D 2% decreased

12. A man buys twao types of oranges equal in
number one a1 5 for g rupes and the other ol 3 for

i rupee wnd sells the whole ar & for Bs, 2, then his
gain or loss per cent is

(A) 25% gain
(B 20% loss
(C)} 10% guin
(D} 25% loss

13, A train travels af a speed of 20 kmhour for
12 minutes and then for the next 8 minutes at a
speed of 45 kmfour, then the avernge speed for
the journcy is

(A) 36 kmihour
(Bl 392 kmMour
() 40 km'houor
{1 42 k'hour

14, Iftan 20 tan 6= 1, then the value of tan 268
15
(A) |
1
(B F
ic) A
(0 Mone of the above

15. AABC is atriangle whose £C=9%0" 1 pis
the length of the perpendicular from Cto Af, then

= 1

ABRC(C)- 0020

I6. Sneha wants 1o buy a furnilure worth
Rs. 12,504}, she gets a discount of 10% onit, After
getting the discount, she payvs 18% GST. Find the
amant she will bave o pay for the furnitere.

{A) Rs. 12,540
(B) Rs, 13,125
(C) Rs, 13,275
(D) Rs. 14,250

17. If 2x% + 5y + 2% = 2xy - Byz = 0, then
XYL Eis

() 1:3:

By £:1:

LB RSO

(I 3:2:

e fwm Led LR

18. A pipe can fill 2 tank in 16 hours. Due to
a leak in the bottom, t"s Glled in 24 Bours. If the
tank is full, how much tme will the leak take
o empdy 117
{A] 36 hours
(B} 42 howrs
(C}) 435 hours
10 48 howors

1% A man travels three-fifih of a distance A8 &t
a speed 3x and the remaining at a speed 2y, If he
goes from B to A and returns at a speed 5z in the
same timne, then which one 15 cormect?

Lol

Ay S¥om

(B} x+y=t

S
{C) ;4_1—,":'
M x+z=y

20. A min buys milk at Rs. 60 per litre, adds
water to it and then sells it @ Rs. 50 per litre.
What is the ratio of milk and water if his profit in
the deal is 2047

(A) 5:9

(B) 25:11
c) 16: 19
(o 13:16

Plesase Tarn (hver
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21 Avisheksells abook at o profitof 20%. Ifhe
had bought it at 20% Tess and sold it for Rs. 18 Jess,
he-would have gained 25%. The cost price of the
book 1s

(A} Rs. 80
{B) Rs. 70
{C) Rs. 60
(D) Rs. 90

22 o+ + et mab + be 4+ ca, then which ons
15 correct?
(A a+ b+ e=0
By ush=r
C) a=b-g=0
([ None of the above

23, Ramand Shyam solve aguadranic equation.
Ram makes a mistike in the constant term and
finds the roots as 5, 3. Shyam makes a mistake in
the co-etficient of x gets the roots as |, -3, The
COrrect roots are

(A) 1,3
(B) -1,3
€y =1.-3
{D.r I.r_l-

24. Rs. 6000 is divided among 40 boys and
some parls so that each boy gers Rs. 100 and each
girl gets Rs, 250, then the number of girs is

(A) 20
(B) 15
(C) 8
(D) 9

25, A man gets a simple interest of Rs, 3500 on
a certain principal at the rate of 1M per annum in
A years. What compound interest will the man get
o twice the principal in two years af the same rae?
(Al Rs. 2520
(B) Rs. 1750
{C) Ra. 2100
(D} Rs. 2040

26, IFthe figseand second of the ltve numbers in
continued propartion are 2 and 8 respectively, then
the fifth number =

(A)Y §5i2
(B) 16
(C) 6
Dy 256

27, The simple interest and compound interest
of a certain sum of money for two vears are
s, 400 and Rs. 410 respectively, Then the rate of
inferest per annum is

(A) 5%
(B} 6%
(C) 5.5%
(D) 6.5%

2B, Average age of & sons of a family is 12
years. Average uge of the sons wgether with their
parents is 21 years, If the father is older than the
mother by 8 vears, then the age of the mother ix

(A} 48 vears
(B} 53 vears
(C) 60 years
(D 62 years

29, Rohit soldtwo books at Rs. 60 each, On one
he gaing 20% and on the other loses 200% . Then he
maide

(A} no profit no Joss
(B loss of 4%
() eain of 1%
(D) loss of 1%

J0. Barun invests Rs. 5000 for a year and Taron
Joins Rim with Bs, 8OO0 after six months. After the
vear they receive areturm of Rs. 4500, then Tarun’s
share i5

(A} Rs 2000
(B)Y Rz 2500
() Rs. 2200
(0¥ None of the above



31, In the figure (nof driwn to scale), a circle
touches the side BC of AABC at Pand sides AB and
AC produced at Gand R respectively. FAQ = 10cm,
then the perimeter of AABC is

{A} 10.cm R
(iCh Sem
(DY 25 cm Y

AL, Ifthe semiperimierofaright-angled trizngle
be 5 cm and hypotenose be ¢ cm, then the area of
the riangle is

i
(A o g
(B & sg.om
{C) 55 - ¢} sqcm
(D3 Mone of the shove

A3, The income of Priva is 20% higher than
that of Liza and the income of Disha is 20% less
than that of Liza, Income of Priva is higher than
income of Disha by

(AY 25%
{B) 75%
(Ch 100%
(DY Mone of the abowve

M. Three solid spheres of gold whose redi are
1 cm, & cm and & cm respectively are melted into
asingle solid sphere. Then the radius of the sphere
iz

[Ad T em
{B} Eo¢m
(€)' 9 em
(D) 10 em

35, Present ages of Bam and Laximan are i the
ratin of 3 ;4 respectively. Three years hence, the
ratio of their uees will become 11 @9 respectively.
Wha iz Laxman's present age?

(A1 24 years
(B 27 years
(T 40 years
(D} 30 years

B-5

ABCC)- 120

o, Ha+b+e=0, then

| i
+ +
FaEi] RN iy | _::“+_|'_b+1

(LAY whe
(B) —

is equal to

e
(Cy 0
(o
37. In an examination. 34% of the candidates
fail in Bengali and 42% in English. If 20% fail in
Bengali and English, the percentage of those
passing in both subjects is
tA) 44
(B) 43
(€) 46
(D) 47
38. Mohit went to a shop to buy 50 kg of rice.
He buys two varieties of oce which cost him
Rs. 4.50 per kg and Rs. 5 per kg, He spends a total
of Rs. 240. What was the guantity of less
expensive rice bopght by him?
(A) 20 kg
(B) 25 kg
{Ch 30 kg
(D) 35 kg
3. The ratio of syrup and water in 30 litre of a

maixiure 151 3, then the amount of waler required
o mix to make the ratio 1 : Gis

(A) 3 litres
(B} 4 litres
{C) 5 latres
(D) 6 litres

0, In an examination T3% passed an Maths,
B0 paszed in Bengali, 653% in both and 45 students

Faibed in both subjects, Thenthe fumber of stodents
appeared are

(A] 400
(B} 500
i) 600
(D} Mone of the above

Please Turn Owver
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d1. A conical container of base diameter 2R
vl height M is full of water which is povred into
o cvlindrical container of diameter 2pR,; then it
will cecupy o height equal (o

iptH
H
ip
PH

3
i

Jpz

(A)
B
({8}

(D

42, If the time taken to 2o fTom one station o
odiver i regquired o be decressed by 20% then by
whal per ceni the speed of the train will have 1o be
increased?

(A 2006
(B} 25%
(Cy 15%
(D} 12%

43, Sotyajitis younger than Diganta by 8 years.
If their ages are in the ratio of 5 : 7. then how old
is Sotyajit?

(A} 18 vears
(B) 22X years
()25 years
(D) 20 years

44, The mean of five observations v, x + 2,
X+6. x+4, v+ 81 11 The mean of last thpee
hservations is

(A} 9
(Bl 9.33
(Cy 13
(D) .66

B-6

45, In the given figare, (nol digwn o scale)
AARC 15 4 right angled triangle, Z8H = 905
AR=femand BC = B cm. the valoe of «is

(A} I'em A [

{B) T em |

(C) 2.56m @

(D) Fcm BI L i

46, Arightciroulercone, anght cirenlarcylinder
and a hemisphere, all bave the same radivs and the
hieights of cone and cylinder equal theirdiameters.
Then their volumes are proportonal respechvely
by

(A 2:0.03
(BY ki3 rl
Iy 15273
(D 3:2:1

47. A merchant purchases 11 toys for Bs 10 and
sobd 10 wys for Bs, 11, His profil is

(A) 15%
(B 20%
i€y 21%
(0 25%

48. A sum of money lent by Jadu at simple
interest becomes double of wself in 8 years. Then
the sum will, triple itself in

(A} 16 vears
(B} 15 vears
(C) 20 years
(D) 24 vears

49. Anarticle is sold a1t Re, 972, then profit is
8%, If i is sold at Ra. 872, then thens is a loss of

(A1 Rs 28
{B) RBs:25
{C) Rs. 20
(D) Rs. 15



Sl Iftan € + sint = and tan B —zin 8= 4. then
which one 15 correct?

(A) mieni= 2ol min
(B) m?=n*=4mn

) mE-nt=aSfom
D m —nt= EJE

S 1+ 9R4TAL <954 T
51, Simplified valoe of OR4T63x0R4TRT 0

{A) YR4TE2

(B} 984763

(Cy 0

(D 1

52. The income from-g bus in every trip is
B 100, 17 the bus fare increazes by 506 and the
number of passengers decreases by 20%, then the
inGoame 10 every trip is

(A Ks. 120
(B) Rs. B0
() Bs. 130

(D) Rz 110

53 The price of sugarcane rises by 20%. Then
by how much per cent does a honsewife reduce her
consumption 50 that her expenditure remains same?

(A) 165 %
(H) 200
(C) 25%
(D) 123 %

ABC{C)- 10020

24, The cost price of an article A iz Rs. 200 and
selling price of ancther article B 1z Kx, 308, If the
selling price of A will be egual (o the cost price of

B, then the profit after selling A is 109, What is
the profit on BY

{A) 20%
(B 3%
(C) 40%
(D 5%

55, In an election 15% of veders did nol vate,
Ratanbabu got 62.5% of votes cast was declared
elected by 3400 votes. Then the tota]l number of
wiHEs are

(A) 15000
(B} 16000
(C) 1HEX)
(D) 19000

86, The radius of a solid sphere is B cm. It is
bisected, then the total surface aren of the twa
pieces oblamed is,

(A} SnR*sg.cm
(B} 4nR°sq.cm
{C}y 6nR° sq.cm
(D) 3nR¥=q.cm

7. Inawriangle FQR, points A. B and © are the
mid poimtsof the sides (2, (R and EFrespectively.
If the area of the triangle ABC 1= 16 sg.units, then
the area of the riangle POR is

(A) 32 sg.unin
(B} 48 squmnit
(Cy 50 sq.unir
{3} Mone of the above

Flease Turn Owver
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58. The speed of a boat in sull water is
B kmivour, 17 can travel 20 km downstream snd
12 kmi upstream at the same time, the speed of the
slream is

{A) 2 kmihour
(B] 2.5 km/Mour
() A kmhour
(03 3.5 km'hour

_ =3
59, I y=5+26, then % 1= equal o

{A) 5

(B} 864
(C) 973
(03 8574

Bl The lengths of two parallel chords of a
gircleare 6 cmand B oo If the smaller elord i o
distance’ d cm from the centre, then the distance of
the other chord from the centre 1=

(A} Sem
(B} 4em
{(Cr 3 em
(D} 2cm

6l Ifx=by+cs y=co+ayvand 2 =ac+ by, then

i i} [y

oo o 3
T+a 1+b T+ 5equaiio

{A) O
(B} 1

B-8

62. The age of father today is thrice as that of
hits son, Afier 15 vears, the age of the Tather will be
twice that of his-son. The age of the son today is

(A) 12 yeary
{B) 15 vears
{£) 18 years
(D 24 vears

63. A cylinder and a ¢one have equal radii of
their bases and equal heights. Tf their curved
surface areas are in the ratio 8 1 5, the ratio of radios
ey the beight is

(A)-3:5
By 3:4
(Cr-4:5
Dy 221

6d. ABCD s @ eyelie guadniateral snd the
siles: DC and AR, are produced to mesp at P,
If ZAPD = 25%and ~PRC = T0° then £BAD iz
equal to

(A) 2§°
(BY 707
(C) 857
(D) ®B5°

65. The price of coal being increased by 20%,
Farmily reduce the comsampiion of coal by 205,
Then how much per cent will the Tamily’s expenses
for codl be increased or decreased!

(A) Mo change

(B) 4% increased
(C) 4% decreased
(D) 3% decreased



66, Ranjan zokd his bag o Joydip af 4 gain of
8% and Jowvdip sold it to Rajo at o gain of 109,
If Raju paid Rs. 297 for i, the price pad by
Ranjan is

(A) Rs. 250
(B) Bz 204
(C) Rs 270
(D) Es 280

o ‘_ql'-u”i"j_‘:.w 280

1 equals o

(A} 2d2=]

(B) 1

2
(< -."_+J
P
(D) N2

68. While preparing mixture of tea, 5% ted is
[ost, In whiss ratio a tradet shoold mix two Kindsof
teacosting Be 60K and Bs, 450k g respectively
s that he might gzon 23% on selling the mixed tea
ol Rs. 625%kg?

(Ay 3:5
By 4:3
| P T
(D) 1:5

69, 17 Iq--&ﬁ}gé-zﬁw:m and £f=100 then

the walue of ¥ (mean) is
{A)y 10
{B):25
(5720
(o 27

ABC{C-1020

0. Lateral surface ares of 4 tight circular cone
is three times the volume of that cone. If the height
and the redius of H:l: cone are ko unit and - unit

respectively, T.ha::n =1 __l_:_ is equal to
(A) 1 =
(By 3
) 9
@ 3

T1. Ahemispherica bowl is made of sieel sheet
0.8 cm thick. The inside radius of the bowl is 5 cm.
Volome of steel used in making it s

(A) 146 cm’

{B) 144.9 cm’
(C) 146,92 cm’
(D) 148.6 cm”

[ [
TE 11=c.|+-||||4b-1,1;ﬂ'

then which one is correst?
(A0 .r'F V=
(B) ' m b’
i) X+ =g
(D None of the above

73. A person walks from his house ata speed of
4 km/hour and reaches his school 5 minutes late.
If his speed has been 5 km/ hour he would have
reached 10 minwtes carlier. The distance of the
schood from his house is
(A Skm
(B 6 km
My 7 km
{1 & km

FMlease Turn Over
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T4, The greatest and the least valoe of
a4+ bsin® (0% <8 <907 are 7 and 3 respectively,
The value of o and & are

(A) asd. b=l
(Bl a=3, h=d
(C) gl b=
(0} a=3. b=T

75, WP, 2), 04, 63, R(5, Tyand Sta. b) are the
vertices of a parallelogram PEIRS, then the values
of ¢ and & are

(Al w=2 b=t
{B) a=1,b=5
Ch a=2b=1
(DY a=6 =7

T6. The radius and height of a cone are each
imcreased by 1066, then the volume of the cone is
increased by

(A} 21%

(B) 33.1%
(Cy 253%
(2 30.4%

T IfH, 8, V be the height, curved sarface area

and volume of 4 cone respectively, then the value
of 3nVH® + 012 — 2% i

(A) D
By 1
icy

{5

wijyg A

E-10

T8. If the cost price of 12 articles is equal 10
sclling price of 10 articles, then percentage of
profit is

(A) 25%
(B) 30%
C) 22.5%
(D) 20%

Rk T4dy  p+db |
T, 0 x=mb,|hen T—da T4 15cqualto

(A) 1
(B) 2
() Bah
(1 dab

L2 oo
0. I gy 0T
T#2 3ty T0OF:

x ¥ z

I+x 2+ v 1DM+2

Ay o
By 1
{Cy 2
o) 3

I, then

is-equal Lo

81. A number ix increased by 10% and then
decreased by 105, then the numbser

(A} doesn't change
iB) decreases by 1%
IC increases by 1%
(B MNoneof the sbove

82. A man invests Rs. 5000 at a rate of 6% per
annum. How much more should he invest at o rote
of 9%, so that he can carn atotal of 7% perannum?

(A) R, SEHI
(By R, 2500
(C) Rs. 3000
(D Rs. 4500



83, A sum of money compounded annually
hecomes Bs. 500 n two years and B, 5500 thres
years. The rate of interest per annum is

{A) 8%
(B} 10¢%
L0 B b
(D) 15%

84 The aress of two similer trisngles are
365 covand 8 1 sg.cm respectively, I the median
of smallertriangle is 1 2 cm then the corresponding
median of the larger wiangle is

(A 12 cm
(B} 18cm
(Y 24 cm
(DY 10 em

85. If the rate of compound interest for the first
vedar is 4% and second year is 5%. then the
eompoond interest on Rs. 25,000 for 2 years is

{A) Rs.
(B Rs.
{C) Rs.
([ Ra

B, A and Bcan do apicce of work in 10 days,
B and Cin 12 days, C and A in 15 days, then that
numbers of davs taken by A, B and C together 1o
fimish the wiork ame

(A} &days
(B) 8days
(€ 10 days
(D) I8 days

B-11

ABCIC)-107210

87, Pipe A can fill a tank in 3 hours and pipe
B can Gl it in 4 howrs, IT they are opened at
alternate hours and if pipe A is opened first, in how
many hours will the tank filled?

I
(A ]1 hiovrs
(B 4 hours

(i) 4:_,5 hioars

(D) 331 hiory

B8. Six years hence, 8 man’s age will be three
times the age of his son and three years ago he was
ning times s old a5 his son, The present age of the
T 1%

(A 28 yrs
(B) 30 yi=s
(C) 32 yrs
(D) 34 yrs

£9, 76 ladies can do a job in 33 days. Due to
avine reason, some ludies did not poan the work and
therefore, it was complered in 44 days. The number
of kadies who did not join the work 15

(A} 22
(B 21
() 20
(D 1%

M. In a joint business, watio of the capitals of

three fricnds was %!%3% . Afier 4 months the first
friend withdrew half of his capital and 8 months
thereafter Rs. 2004 was recorded as their tofal
profit. What was the share of profit of the first
friend?

(A) Rs, 542

{B) Rs. 672

(C) Rs. T36

(D) Rs Bl6

Mease Turm Uhvier
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91. The difference between simple interest and
compound inlerest on o sum for 3 years ot 10%
when the interest is compounded annualy is
Rs. 155. Then the principal value is

(A) Rs. 4000
{B) Rs, 50
{C) Rsl 5500
(D) Rs 6000

92. The current population of wtown is 120000,
If the population increases by 10% every year,
then the population of the town after three vears
will he
(A) 125550
(B) 162900
(C) 134650
(D) 159720

9. If (x + +F = 3, then the value of
J_.-1I'|‘.'.I:'+I!|.I'E! +I3m+_r33|-*+ rT.Il!-+Im|ﬂ_r_ |. I.:S
(A) O
(B 1
(Ch 2020
(D) 2016

94, 1F 3 sin @+ 5 cos o= 5, then the value of
(3 cos a — 5 sin o)’ is equal o
(A9
(B} 5
() %
(D} None of the ghowve

5. Due of 15 cows one worth Bs. 1800 was
removed and a horse was taken in, 17 their iverage
price is thereby increased by Bs, 300, then the
price of the home is

{A) Bs. w000
(B) Rs 6300
(C) Es. 3600
([} Momne of the above

D6, The production of scooters rose to 48400
from 4000, If rate of growth is 10%, then the
fme reguired

{A) 5oyears
(B) 4 vears
(C) 3 years
(D) 2 vears

7. Two circles with radii ry and r,
respectively, touch each other externally.
Let R be the radius of a cirele that touches these
twircireles ns well as a common tengent to the two
circies, which of the following is wrue?

98. Amal invests Jl of his capital @ 8% p.a., %
il 10% pa. and the remainder i 7% poa, If his
annual income s Rs. 628, then the capital is

(A) Rs. 7500
(BY Rs. 7700
() Rs. B0
(£ Rs: 8300



99, The mean of o frequency distribution is 8.1,
if £fix=132+5k and £f,=120 then the value of k
15

(A) 2
(B} 4
i} 3
{D} &

100. A manufacturer marked an article at
Rs. 120 and sold it aliowing 15% discount. If his
profit was 2045, then the prime cost of the anicle
1%

(a0 Rs &5
(B) Ra. 90
() Rs. 100

(D Rs. 110

101, A boatman goes 2 km against the corrent of
the stream in | hour and goes 1 km along the
current in 10 minutes, How long will it take 1o go
5 km in stationary water?

(A5 40F mins
(B} | hour
{C) | hr 15 mins
(¥ 1 hre 30 inina

Direction: Study the following alphabetical
sequence and answer the question based on it.

GAGHUTAAKHGAOYYDKEVRABICDDC
RFFAHAHAIH

kL. Tf we write the letters of the above serigs in
the reverse order which letter 15 the middlemost?

(a1 K
(ay v
R
(D) A

B-13 ABCICl-10/20

103, What fraction of 477 muat be added 1o itself
o make the sum 157147

(A) 172
(B) 47
(Cy 718
(D) 15¢14

104, A man can row upstream ot 8 kmph and
downstream a1 13 kmph. The speed of the stream
i5

(A} 2.5 kmph
(B} 4.2 kmph
(Cy 5 kmph

(D) 10,5 kenph

Direction: Suppose the follewing words

Man, Men, Machine, Method, Methodical, Make,
Mentor, Map

are arranged sccording 1o dictionary rule,
105, Whach of them will be ot the stan?
(A} Man
{B) Map
() Make
(D} Mauachine

Please Turn Ower
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106, Study the following table and answer the
gueestion bazed on il
Mumber of Candidstes Appeored, Qualified and
Selegied In s Competitive Examinagion from
Five Stntes Dedhl, BLP, U, Panjab and
Harvams Over the Years 19904 e 1998

[ T Er 1
"{EE:- S il [ | Apy. o | 50 hhh:ﬂr“ 'tﬁ..._*i
i {wooe] a0 | 94 | rewe] e Jaa Fasoof7a0 7 | weoefsmnles Jecon| 7oa [
“&ﬁ?ﬁ“ﬁﬁlﬂ‘;mmlﬁ 00| 50 |7 [7ioe] ot |7
tﬂ:l?ﬂ:q:ll.l:l{r r.u|_-.|-| o funoc| ws | an | wsn| aas f s | | g |am

25 | [imee) e |sm. | o 50 | 7 | v 720 o o) ok |2
mm 0 |Tona] 661 |16 |E500] 50 | B | G70% | 4 0 || ace | 76

[ the vear 1997, which state had the lowest
percentage of candidates selected over the
candidates appeared?

(A} Delhs
{B) H.P.
{Cy LULP.
(D Punjab

07, Jayaond Hima are competing in s 200 meter
race. Both start the race ab the same ume, but Java
starts the roce 40 meters ahead of the starting point,
whercas Hima stans the race a1 the starting podnt,
Assume that Hima runs at a speed of 10 meters per
second; whereas Java runs & & spesd of x meters
per second. If hoth reach the finish line at the same
tirne. then what is the valoe of 17

(&) B meters per second
(B} 10 meters per second
{C) b meters per second
(D) 2 meters per second

108. Threecubes of edees b om, & cmand 10 cm
are melted without Toss of metal into i single cube.
The edge of the new cube will be:;

(A) l&hem
(B) 14 cm
) 12 em
(¥ 8em

B-14

109, Three times the first of thres consecutive
odd integers 15 3 mose than twice the third, The
third integer is

(A) 9

(B 11
iy 13
(D) 15

Direction: Study the following olphabetical
sequence und answer the question based o il

GAGHUTAAKHGADY YDREENRABICDDC
RFFAHAHAIH

118 The numberof vowels that are absent in the

ghove series is
{4) 0
(B} 1
(c) 2
Dy 3

111. The 5th term in the following series:
al’ +be” +od” + ... + 1023 terms will be
(A} de |
(B) ef”
(C) 7’
(DY -ef

112, If all the letters of the word
RATIONALISATION are written according o
the alphabetical order, which letter will be farthest
from the first letier?

(AY T
(B} L
iy R
(D) N



113, A and B are ot o distance of 800 m. They
start towards each other at 20 and 24 kmph. As
they start a bird sitting on the cap of A, starts flving
towerds B, touches B and then returns towards
A amd sooom, 6l they meet, What is the diztance
traveled by the bird, if its speed is 176 kmph?

(A) 3040 m
(By 3200 m
(Cy 3100 m
(D) 2600 m

114. A boat running downstream covers a
distanceof o kmin 2 hours while for covenng the
same distance upsiream. it takes 4 hours. What is
the speed of the hoat in still water?

(A} 4 kmph
(B1 6 kmph
() 8 kmph
(DY Data inadequate

115, When a number is added o seven-ninth of
thinty-five per cent of 9K, the resultant is 325.
Whiat 1= the number?

(Al 81
(B} 80
(Cy 93
(D) &0

116. If the letters in the word “FSCEXAM™ are
redrranged according to the English alphaberical
order, how many letter(s) will remain in the same
position after the rearrangement?

(A) O
(B) 1
{c) 2
(D) 3

ABCC)-10420

Direction: Monica, Amar, Akbar and Anthony
liwe i the four apartments that are arranged side by
side. Only one of the above four persons is the
landlord whose spartment is af the oneend, Amuor’s
apartment is neither next to Monica’s aparmment
nior nexiio Akbar’ s apariment, Monica's apasiment
is not i one end, Amar is not the landlord,

117, Whin lives just beside the landlord?
tA) Monica
(B) Amar
() Akbar
(I Anthony

118, A man rows downstream 32 kmand 14 km
upstream, IThe takes Ghours i covercach distance,
then the velocity (in kmph) of the current is

(AY L2
{B) 1t
<) 32
(D 2

119, Wone-third of a tank hald 80 fires of water,
then the quantity of witer that half of the tank holds
s

(A} RO litre
{B) 100 ligre
(€ 120 lire
(D 240 litre

120, From a groap of 7 men and 6 women, five
persons are 1o be selected to form a commitiee so
that at feast 3 men are there in the committee. In
how many ways can it be done?

iA) 624
(By 204
(C} 756
(D) 212

Please Turn Over
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121. A shopkeeper gives Iwo successive
discounts. of 20% and [0% on surplus stock,
Fuorther, e alao gives 3% extra discount on cash
payment. 1f a person buys a shir from the surplus
stock and pays in cash, what overall discount
percent will he get on the shin?

(A} 6%
(B} 5.67%
() 31.6%
(B 2%

I22, If the letters in the word “PSCEXAM"
are rearranged according [0 the reverse English
atphabetical onder, how many letter(s) will remuain
in the same position after the rearrangement ?

(A) O
(B} 1
(Cy 2
(D 3

123. A person travels 3.5 km from place A to
place B. Out of this distance, he travels 53 km on
bicycle, 7/6 km on scooter and the rest on fool,
What portion of the whole distance dioes he cover
on foot?

(Ad 319
(B) 411
i) 521

(D) 5

124. The following pie-charts show the
distribution of studenis of greduaie and post-
graduste Tevels in seven different institutles in a
Lowm.

Distribution of students af graduate and
post-pradueate levels in seven institutes:

Total number of Students of
Ciracduate Level = 27300

Total number of Students of
Posar-Crraduite Lavel = 24700

What is the total number of graduate and post-
gradunle bevel students in institule R?

(A) E320
(B} T916
(Cr 9116
(I Bioo



125, When o ball bounces, 1 rises o3 of the
height from which it fell. If the ball is dropped
from o haight of 32 m, how high will it rise at the
third bounce?

{A) 13m

(B 135 m

(iC) 14.5m

(D) Mone of the above

126. Study the following table and answer the
guestion based on it:

Naniber of Candidates Sppearve, Qualified and
Selecied i o Competibive Fysanlnstion from
Five Saates Dedhi, B ULP, Punjak snd
Haryass (hver (e Years 1994 1o 1998

Dol HR P, Farpes
i 9 7Y R 4 gy ey v 55 o
e imoonemn | o | reea| i) | v | e | moed vea e feam| 3w | 5
e sow | 6 | reaal eea | e fomn s | o | coued woa {0 frim! ema | s
woghlrsat ot | m | aza| mea 7 fawonfam | a s [ Jrown | 390 [ 14 |
wes el e | a0 | e van | en | 7o 20 mﬁ_r:mmm-
ot ooy s | [ v e | v w960 | w0 | e e [0 el | T8

The percentage of candidates qualified from
Punjabaver thase appeared from Punjabis highest
in the year

(A} 1997
(B) 1998
(C) 1999
(D 2000

Direction: Monica, Amar, Akbar and Anthony
live in the four apariments that are arranged side by
gide. Only one of the above four persons 15 the
landlord whose apartment 15 the one end. Amar's
apartment is neither pext o Monica®s apartment
nornextto Akbar's apartment. Monkz's apartmeni
is not at one end. Amar 8 not the landlosd,

127. Amar lives
CA) al one extreme end.
(B hetween Akbar and Monicie
(C) between Akhar and Anthony.
() between Monica and Anthony.

ABC(C)-1M20

128. Conszider the following three statements by
Amar, Akbar and Anthony.

Amar ; “Anthony 1s o good boy.” Akbar : “Amaris
o liar.” Anthony - T wm not a good boy.™
You know that ot least two of them are telling the
truih, Whe isfare telling the troih’

£A) Cnly Armar

(B} Amar and Akbar

(C) Akbar and Anthony

(D All of them

129, If Pamela ranks seventeenth oo class of
thirty-one, what 13 her rank from the lasg?
(A) 12
(B 14
(Y 13
(D 16

Direction; Suppose the day after wmorrow i3
KNOT Saturday

130, Which of the following day CANNOT be
the doy before vesterdoy 7

(A) Sunday
(B) Monday
(T Tuesday
M Wednesday

Plegse Turn Owver
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Direction: Monica, Amar, Akbar and Anthony

live in the four apartments that are srranged side hy
side. Only one of the above four persoms 15 the

[nndiord whose apanimentis at the one énd, Amar's
apartment is neither next 1o Monica's apartment

nornext o Akbar's apantment. Monica s apartment
i% ol it onve end, Amar is not the landlord.

131. Whao is the Tandlord 7
(A) Monica
(B) Amar
(C) Akbar
(B Anthony

132 e b wic,dl=(a+d— % then

I3
5. 21.03 2) .
[ﬁLT:I‘ 1-'3]“]&

(A1 1
(B 0
<y 7
(D 2

133 Simplify : log 3 Tog, 64
(A) 35
(B 245
() 34
(D) 13

134, If the current ratio of the father”s age 10 the
son"s age is 4 1 1 and the product 1s 256, what will
be the ratio of ages after 5 years?

(A) 3T:13
(B) 35: 12
(€)-35:15
D) 50:1

Pirection: Morica, Amar, Akber and Anthony
live in the four apartments that are arranged sude by
side. Only one of the above four persons is the
landlord whose gpartment is at the one end. Amar's
apartment iz neither next 1o Monica's apartment
nor next o Akbor's apartment. Monicas apartment
is not at one end, Amar is not the landlord.
135, Monica lives

(A} af one extreme end,

{B} hetween Akbar and Amar,

iC) between Akbar and Anthony.

(D) between Amar and Anthany,

136. F"p. =r [n=1){n-2) .. (n—r)and "p 4= 34,
then the value of n will be

{A} 5

(B) 4

(i 2

B

Direction: Swdy the following alphabetical
seguence amd answer the question based on it

GAGHUTAAKHGAOYYDKKVRABICDDC
RFFAHAHAIH

137. How many vowels are there in the above

series which are immediately preceded by a
consonant”

{AY 6
By 7
i) 8
(D1 9



B-19

138, Inaceraincode language PREMONITION

being coded as GEIIMOT900, you will write
MONITOR as:

{A) 30539205
(B} 347000
() 3049203
(D) 3049208

Direction: Suppose the following words
Mun, Men, Maching, Method, Methodical, Muke,
Mentor, Map
are arranged according to dictionary rule.
139, Which of them will be at the end?
(A) Men
(B Method
(C) Methodical
(D} Mentor

140. Whiat iz the smallest number which when
decreased by 8§ is divisible by 21, 27, 33 and 557

(AL 140
(B} 105
{Ch 15490
(D) Mone of the above

ABC{Cl-10/20

141, Oun of the 1w bar graphs provided below,
one shows the amoant (in Lakh B, ) imvested by a
Company i purchasing raw materials over the
wears and the odher shows the values (in Lakh Rs.)
of finished goods sold by the Company over the
years,

Amount mvested in Raw Material (Rs. in Lakhs)
m:
wo
£ |
X. |
Z u %
4 |
Yozars

Value of Sales of Finished Conds (Rs. in Lakhs)

I-"I'

The valse of sales of finished goods in 19949 wis
approximately what percent of the sum of amount
invested in Raw muaterials in the yvears 1997, 19938
and 19997

{A) 336
(B 374%
(Cl 45%
(D) 49%

Please Turn Ohver
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142 The following pie-chort gives the
distribution of the overseas lourist traffic from
India,

What percentage of Indian tourist went to either
PSAor UK?

(A 405

By 505

() 6%

(D) 705

143, A box contains 15 marbles out of which 4
are white, § are red and 6 are hloe, Three halls are
I be drawn at random from the bag, What is the
probability that all of them are red?

(A) 1122
(B) 289
() 2777
(D 291

E44. In a certain code language
I 2 3 means ‘sober nice lady”
35 6 means ‘nice sunny day’
3 B 9 means ‘a rainy day’
Which of the following numeril stunds for
‘sunny™?
(A) 3
(B} 5
i) 6
(o9

B-20

145. The average weight of B persons increases
by 2.5 kg when & new person comes in place of one
of them weighing 65ke. What maght be the weight
of the new person?

(A) 76 kg
By Skg
(C) B kg
(B Mone of the above

146, The difference between a two-digit number
unid the number obeained by interchanging the digits
15 36. What is the difference between the sum and
the difference of the digits of the number if the ratio
between the digits of the numberis 1 : 27

(Al =
(B) 8
() 1o
([ Mone of the above

147. Ankit is the son of Zubin, Manju is the
daughter of Anil, Sheela is the mother of Manje.
Mohan is the brother of Manju. How is Mohan
related to Sheela?

(A} Brother

(B] Father

{Ch Som

I Cannot be determined



148. A sum of Rs, 312 was divided among 100
boys and girls in such a way thar each boy gés
Rs. 3.60and each girl Bs. 240 The number of girls
i=

(A) 40
{B) 45
() 33
(D) 30

149. A peeo-digit number1s such thit the product
of the digits is 8. When 18 is added to the number,
then the digits are reversed. The number is

(A) 18
(B 24
() 42
(o Bl

150, How many nombers between 400 and 600
begin with o end with the digit 57
{A) 40
By 100
iy 110
(D 120

151, Suppose milk is sold a1 the raes of 3.50,
6.00, 5.75 and 5.25 rupees per litre in four different
months, Assuming that equal amount of money
are spent on milk by a family in the four months,
the avernge price in rupees per litre will be

[A) 561
(Bl 3.62
(C) 563
(D} 5.64

ABC(C)-1H20

152. A carisrunning first 5 kilometers st a speed
of 40 km.fhr, next 20 kilometers of 60 km_hr, and
then anather 30 Kilometers at 30 Emubhr, spesd.
Then the average speed of the car 5

(A) 5197 kmJhr,
(B S0 kmuthr,

(C) 52-3 kmJhr,
(D) 506 kmuhr,

153 A problem is given o three students whose
chances of solving it are 1/2, 1/3 and |74
respectively. What is the probability that the
problem will be salved?

(A 144
(B) 142
() 34
(D T2

154, In one hour, 2 boat 2oes 11 km along the
aream and 3 km against the stream. The speed of
the boat in still water {in kmv'hr) is

(a3
(B) §
(C) §
(D)9

158, A tapcan fill a bucket in 6 hours, After half
the bucket is filled, three more similar faps are
opened. What i% the rofal time taken to £ill the
bucket completely?

(A1 3 hrs 15 mins
(B} 3 hrs 45 mins
() 4 hrs 23 mins
(D 4 hies 15 mins

Flease Turn Owver



ABCIC)- 120

156, The following line graph gives the ratio of
the amounts of imports by a company o the
amount of exports from: that company over the
period from 1995 1o 2001,

Ratio of Value of Imporis to Exports by a
Company Over the Years.

| e
| N

o

LT

L]

2k Ll ] T L b =r ) Ey] 103

Yienrs
The Impors were minimum proportionate
to the exports.of the company in the vear
(A) 1095
(B) 1996
() 1997
(D) 200%)

157, Out of the two bar gruphs provided below,
one shows the amount (in Lakh Ra.) invested by a
Company in purchasing raw materials aver the
venrs and the other shows the valoes (in Lakh Rx<.)
of finished goods =old by the Company over the
Veurs,

Amount invested in Raw Materinls (Rs. in Lakhs)

0 =
o

£

®a m akhs
E

E

LFE, b i kL) v f e}

Veuid
Valoe of Sales of Finished Goods (R in Lakhs)

o — —

W —

&
Lo [
| L13
[ e == =
W
s
1 I_ - — —

fLLE] o] 15T il B fii ]

Yoy

The maximum difference between the amownt
mnvested in raw materials and value of sales of
finished goods was during the year

(A 1905
(B) 1996
i) 1997
(L) B9

Bz, @ Lafkhs

158, A whole number # which when divided by
4 gives 3 as remainder. What will be the remainder
when 2n is divided by 47

(a0
(B3 1
(<) 4
(I 2



Dircction: Study the following -alphabetical
sequence and answer the question based on it

GAGHUTAAKHGAOYYDKKVR ABICDDC
RFFAHAHAIH
159, If we drop all the vowels from the above
senies which letter will be in the middie positiomn?
(Al K
B v
{C) B
o R

Direction: Study the fol lowing alphabetical
sequence and answer the question based on it
GAGHUTAAKHGAOYYDKKVRABICDDC
RFFAHAHAIH

160. The difference between the mumber of

consonants and the number of vowels in the above
SeTies is

(A) 10
{By 13
Cy 17
(D) 25

161. Study the following table and answer the
fuestion based on it
Number of Candidates Appesred, Qualified and
Salicted i o Compeiitive Examination From
Five States Delld, HLF, U.1F, Panjal ol
Harynna Over the Years

ki | WP T -
il 17 ) ). Sy ey m:ﬁm R - -
teariaot 161 | o [ ra0] e [0 [rane e [ o0 | oo et i Seama| v [
e e A S A I R
rowa o o) | 12 [ vec | 0 [ e [ | s 2 e oo 30 [
saanfonte) 130 | 0 | naces w0 [ [ o ne [ e [ rwoc 120 s o] 50 o
saifoend] 130 | 4 [ w0 |7 |maa) ot | o6 i das feg Jdem ] o [r

For which state the average number of
candidaies seledled over the vears is the maxinum?

(A) Delhi
{B) H.F.
{C) ULP.
(D3 Punjab

B-23
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162. The following pie-charts show the
distribution of students of eraduite and post-
graduate levels in seven different instinutes in a
lovarm,

Distribution of students at graduate and
post-graduate levels in seven institutes:

Total number of Students of
Liradiate Level = 27306

Total number of Students of
Post-Graduare Level = 24700

What i3 the ratio between the number of students
studying at post-graduate snd graduate levels
respectively from institute 57

(A) 14119

(BY 19:21

Yy 172

Dy 19:14

Please Turn Over
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163. What is the number of triangles in the
following figure?

L

{A) 10
(B) 9
€y 11
(D) 12

)

164, If words : language then line
(&) mthematics
(B figure
{C) algebran
(D) geometry

165, How long will a boy take 1o run roumd d
square figld of side 35 meters, if he runs at the rate
of 9 krnhr?

{A) A4 sec
(B} 3 sec
(L) 56sec
(D) 54 sec

B-24

166, The following chart shows jllw age
distribution of overseas tourist from India,

Age Distribution of Overseas Tourist Traffic
from India.

Which of the following statements is not TRUE?

(A} Elderly people are most likely totravel
OVErSeas,

(B Elderly people are least likely totravel
OVETSE S

(C) Youngerpeople are lesslikely totravel

QOVCrsCus,

(D Omne fifth of the overseas tourist from
India is middle aged {i.¢. aged 40-49

years)

167. Games,cricketand football representwhich
of the following figures?

(A) (%}

()

) QD



168. M ane-thicd of one-fourth of a numberis | 5,
then theee-teinth of thar number i3

(A) 35
(B) 36
(C) 45
(I 54

169, Study the following table and answer the
question:
Mumber of Candidatis Appeared and Jaslificd is o
Competitive Examination from Different States

Civer this Years,

B-25

| Tar
T (] ] 1 20
App [l App| G| Apg [Gunt| Ape Qual. | App sl
o 1m0l 7201 el wsn | 7400] ksn |-smoo] 773 |ased 112
b | 1500 30 { ugoe | i0s0 ] o | | i
P Spaon| Tan | s | oo] M| v LERHILBNID i
[ 30 11 | ST | o0} EMO0L SN0 10T
| TE :ml an | Gdip | up] yusn| Togu] w45 ]

What is the average candidates who
appeared from State () during the given years?
(A) BTN
(Hy R760
(T BUA
Dy 8920

ABCIC)-T0020

170, Soady the following sble and answer the
question:

Musnlwer of Candilates Appesred apsd Oalified in o
Competitive Exnmination fenm DilTerent Sales
Urver ihe Vears
Veur |
Staly 19 Ik 1A ILHA i
App. el App. | Cusl | App. [Cosl | App. |Gl | App Cusl

e T | g | Semd | D] BR0 | ARG FTE (9l 142y
TR | B | 0D | 0S| &S50 OhE | 0300 G (REDG| D008

406 | 750 | #5800 1000 | TEnof Ao | w1 Jululum 1250
8100 | w30 | sso0 ] 120 | s1o0] us | oo 100 [res] s
apow | Hin | tedn | san | e | oG | S| da |1-w1- FHe

Total number of candidates qualified from
all the states together in 1997 i approgimaiely

what percentage of the totnl number of candidates
gualified from all the stites tegether i 19987

Ay T3%
(B) 7T7%
(C) ROG
(D) B3

w e b |

171. Soldiers serve their country. There are four
references. Choose the eomect one,

{A) Those who serve their country are
soldiers,

{B) Women do not serve their country as
they are not soldiers,

(C) Men generully sérve their country.
(I} Some men who arc soldiers serve
thelr cOuntey.

172. How many 3-letter words with o withow
meaning. can be formed out of the letters of the
word ‘LOGARITHMS'. if repetition of etters 13
not allowed?

(A} T20
(B 420
(C) S0
(D 256

Please Turn Over
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173, Sankel eams twice as much in the month of
March as in each of the odher months of the vear,
What part of his entire annual eamings was carned
int March?

(A) U7
{B) /6
(Cy 211
{E¥ 213

I74. Ifthe average of @, b, c 15 15, the average of
oo, dis 12 and the average of g, 4 is 13, the value
of dis

(A) 34
(Bl 30
<) 24
) 10

175. Raju, Ramuand Razican doa piece of work
in 20, 30 and 60 days respectively depending on
their capacity of doing work. If Raju is assisted by
Ramu and Razi on every third day, then in how
many days Raju will complete the work?

(A 12 days
(B} 15 davs
() 16 days
() 18 days

176. All fish can swim, No fish can wilk. 5
: x T
nothing that can walk, swims

A Inference is true
(B) Inference is Fulse
(C1 Inference is probably true
(B Inference is probably falss

B-26

177, Mr, and Mrs, Basu live in a house only with
their children, They huve three sons and each of

the sons hazexactly one sister, How many persons
live in that howse?

(A 6

B 7

{C) B

() 9

178. Which number will occupy the blank space?

T ]9
|7 16

|4 49

179. Stedy the following data carefully and
answer the following:

Mamber of Camdiduies Appeard and Cualified
in o Competitive Examinstion from [iiferent
Seabes Ohver the Yeurs,

| Yewr
:&md” [ e 1940 T
A uskl A | Qual| App. | Oual| App] Qust. | App Gual]
S| Tan | ssw| e | 400) w50 | Gaoo| 719 [eson| §1a
THEH EAD | am] jisn | adsn Wi | S| uan ERGO] 1170
b0 65 | e ooz | Tem| ko | avsol a0 1350
A1 I.I?l'r M| 1280 §700) Mo '.IJ'IJI!]I?ITI] b
0] 570 | Too0 | ws0 | ama] 1350 el a5 [T ags

In which of the given years the number of
candidates appesred from State P has MAXITEEm
percemage of qualified candidates? -

[A) 1997
(B) 19us
(C) 1994
(D} 2001

miai=l=le




180. Thedifference betweena two-digit number
and the number obained by interchaneing the
positions of 1ts digits is 36. What is the difference
between the two digits of that numiber?

{A) 3
(B 4
<y 9
{3} Cannot be determingd

181, At 3 pm the minute hand of a wall clock,
placed normally on the wall, points wthe West. In
which direction the hoar hand will poing as & am?

(A} East

(B) West
{C) South
(DY) North

182, If [45] = [#=03] = 4. then [~ 45] will be
(A} —4
(B) 4
(C) 5
(D) -3

183, If the given interchanges numely : igns +
and + und numbers 6 and 3 are made in signs and
numbers, whichone of the following four equations
would be correct?

(A) B434+3=3
By 3+6+2=5
i) 3+6+4=6
D 6+3+5=7

184. What is the number of digits i (37"
(A) 4
(B} 3
{C) 6
(Dy 7

B-27

ARC(C)-1020

185, The bar pruph given below shows the sales
of books (in thowsand nomber) from stx branches
of g publishing company during two consacutive
years 20600 and 2001,

Sales of Books {in thousand numbers) from

Six Branches- B1, B2, B3, B4, BS and B6 of

a publizhing company in 2000 and 2001,

dEH M EREARREEE

Sakes (in (hommand mimben )

Brmncke

a0 a TH|

Total sales of branch Bo for Bath the years is what
percent of the total sales of brunches B3 far bath
the vears?

(&) GE.S54%

By TL11%

(C) T3.17T%:

(D 75.55%

186. At 12 pm both hands of 2 wall clock, p!lm..:e:d
normally on the wall, point to the South. In which
direction the hour hand will point at & am?

{A) East

(B West
{C) South
(D North

Please Turn Over
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187, Out of the two bar graphs provided below,
ane shows the amount (in Lakh Es.) invested by a
Company in purchasing raw materials over the
vears wnd the other shows the values {in Lakh Rs.)
of finished goods sold by the Company over the
Vears,
Amount invested in Raw Materials

{Rs. in Lakhs)

i

Ba in Likhs

Value of sales of Finished Goads (B in Lakhz)

B i Lakhs

e

What was the difference between the
average amount invested in Raw materials during
the given period and the average value of sales of
finished goods during this period?

(A) RBs. 625 lukhs

{B) Rs. 685 lakhs

(C) Bz 71.5 lakhs

([¥) Rs. 77.5 lukhs

Direction: Suppose the day after womorrow i
NOT Saturday

188, Which of the following day CANNOT be
the day after vesterday? -

{A} Thursday
(B Monday
{Ch Tuesday
(D Wednesday

189. The following line graph gives the ratio of
the amounis of imports by 8 company to the
amoant of expors from that company over the
peried froom 1995 w0 2001,

Ratio of Valoe of Imports to Exporis by a
Company Over the Years.

i =
15

a4
a4
iX &
KB

Years
If the imports in 1998 was Bs. 250 crores
and the total exports in the years 1998 and 1999
together was R=.500 crores, then the imports in
1999 was
(A) Rs 250 erores
(B} Rz 300 crores
(C) Bs. 357 croves
(0 Rs 4200 crores

1'%, Wha fraction of an hour is second?
(&) 1724
(B} 10
{Cy 14120
D) 1360



191, The bargraph given below shows the sales
of books (in thousand number) from six branches
of a publishing company during two consecutive
years 2000 amd 2001,

Sales of Books (in thousand numbers) from

Six Branches- B1, B2, B3, B4, B5 and B6 of

a publishing company in 200 and 2000,

| B ——
=i 4 12 -
ill:l:l L 14 oy

E ™y L d i E Wb
d. mi = i S
4 iz
[ —
o] =
5w
i =
B4

in 4

[

K =] L1] 1] 53 =
Emietes [ Rwir ] w2

What is the ratio of the 1otal sales of brunch B2 for
haoth years to the wotal sales of branch B4 for both
s

(A) 2:3
(B) 3:5
() 4:5
Dy 7:9

ABCIC-10/20

192, The followingz pie-chart shows the
percentage distribution of the expenditure incurred
m publishing a book. Study the pie-chart and the
answer (he questions baszed on it

Yarious Expenditures {in peroentage)
Incurred in Publishing a Book

Fromotion
okl

If for a cenain guantity of books, the publisher has
to pay B, 30,6000 a5 printing cost, then wiat will be
the ameunt of rovalty to be pasd for these books?

(A) R 19430

iB) Rs. 21,200

(C) Rs 22,950

(D) Rs 26,150

193, The ratioof the no, of white balls i a bap 1o
that of Black balls is'1 2 2, If % grey balls are added
the ratio-of nos, of white, bluck and grey becomes
214 -3, How many black balls were in the bag?

{A) &
(B) @
{C) 12
(o 8

14, A reduction of 200% in the price of
strawhberries enables a person to purchase 12 more
for Rs: 15, What was the price of 16 strawherries
before reduction of price?

{A) Rs, 6
{B) Rs, 5
{Cy B 7
(L RBs, 9

Please Torn Ower
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195, vegetable :: wheat
Which one of the following is the comect
pair?
i4) plani, cake
(B] harley, flour
(C) cabbuge, corn
(IR lTeaves, rice

19 Which of the following words can be
formed wsing only the letiers of the word
“PRCEXAMINATIONT? (When framing a wond
you can use any letter at most the number of times
times it appears in the shove word.)

(A) SCIENCE

(B MOTHER

(C) MSCEXAMINATION
(¥ STEPIN

197, The unit’s digit present in the produoct
274 x I8 2 57T x 313 is

(A) 2
By 3
<) 4
(0

i

E-30

198, The digit i unit's place of the product
Bl x B2 x.,. x89is

(Ay O
iB) 2
C) &
oy &

Direction: Study the following alphabetical
seguence wnd answer the question based on it

GAGHUTAAKHGAOYYDKEYRABICDDC
RFFAHAHAIH

199, The som of the number of consonants and
the number of vowels in the above sorpes {2

(A) 35
(B) 36
i) 37
(D) 38

200, If fix)== where c=0, then

f{x) + L1}~ L will be
i
(&) p

{B) -+
(e x

Dy —x



